ReSenja zadataka za tré& kolokvijum iz
Operativnih sistema 1
Septembar 2014.

1. (10 poena)

char getchar () {
static char buffer[Bl ockSize];
static int cursor = Bl ockSi ze;
i f (cursor==Bl ockSi ze) {
readBl ock( buf fer);
cursor = 0;

return buffer[cursor++];

}
2. (10 poena)

class File {
publi c:

File (const char *pathname, int flags, node_t node) throw Exception
~File () throw Exception

void read (byte* buffer, unsigned |ong size) throw Exception
void wite (byte* buffer, unsigned |ong size) throw Exception

private:
int fh;
b

File::File (const char *p, int f, node_t m throw Exception : fh(0) {
int s = open(p,f,m;
if (s<0) throw Exception(s);
f h=s;

}

File::~File () throw Exception {
int s = close(fh);
if (s<0) throw Exception(s);

void File::read (byte* b, unsigned |long sz) throw Exception {
int s =read(fh,b,sz);
if (s<0) throw Exception(s);

void File::wite (byte* b, unsigned long sz) throw Exception {
int s =wite(fh,b,sz);
if (s<0) throw Exception(s);
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3.

(10 poena)

PBl ock get Fil ePBl ockNo (FCB* fcb, unsigned long bt) {

if (fcb==0) return -1; // Exception
unsi gned long I blk = bt/BlockSize; // Logical block nunber
i f (1blk<SinglelndexSize) return fcb->singl el ndex[I bl k];
I bl k -= Singl el ndexSi ze;
unsi gned | ong dbl I ndexOEntry | bl k/ Dbl | ndex1Si ze;
unsi gned | ong dbl I ndex1Entry = | bl k%Dbl | ndex1Si ze;
i f (dbl I ndex0OEntry>=Dbl | ndex0Si ze)
return -1; // Exception: file size overflow
PBl ock dbl | ndex1PBI kNo = fch->dbl | ndex[ dbl | ndexOEntry];
PBl ock* dbl I ndex1 = (PBl ock*)get Di skBI ock(dbl | ndex1PBI kNo) ;
if (dblIndex1==0) return -1; // Exception
return dbl I ndex1[ dbl I ndex1Entry];
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